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o BHOLTI R AR S ANAE HEAIY =&
3,500,000& 3,500
Xl 2,450
= 1,050
ATRSE =S AE HEAY(SAX ) 500,000 0 500,000
Xl 350,000
= 150,000
401 Al HIZL 2 0HY| 500,000 0 500,000
Xl 350,000
= 150,000
01 Al&Hl 496,500 0 496,500
o Z=NKFE AR =T AE HEAE
496,500,000 * 1= 496,500
Xl 347,550
= 148,950
03 AlE 201 3,500 0 3,500
o FAMXFP AR ST AE JHEAIE =&
3,500,000& 3,500




M9
X ZH - A
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M
2
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Ol
0y

Al 2,450
1,050

HJ

O
=)
b
0z
g
0/
1>

a8

HE(S0IX+F) 2,143,000 1,571,429 571,571

1,500,000
193,000
450,000

U

Mo =

401 AIEHIZ 2 I 2,143,000 1,571,429 571,571
1,500,000
193,000
450,000

Mo A

01 A& HI 2,138,000 1,565,829 572,171
o SHEMEES HLAL(S0IXIFR)
2,138,000,000& * 1JH A 2,138,000

1,496,500
192,550
448,950

03 Al 2 THHI 5,000 5,600 A 600
o SHEYUEES HEAML(S0XF) =&
5,000,000& 5,000

3,500
450
1,050

HHA

Mo =

O
=
I
0z
ly

g+ WL (SR 2) 1,737,000 1,142,857 594,143
,216,000
156,000
365,000

Mo =

401 AIEHIZ 2 I

, 737,000 1,142,857 594,143
1,216,000
166,000
365,000

Mo A

01 A& HI 1,733,000 1,138,857 594,143
o SHEMEES HLAH(SSHRIR)
1,733,000,000& * 1JHA 1,733,000

1,213,200
165,640
364,160
03 Al S THHI 4,000 4,000 0
o sSHEMESS HLAG(SaNR) =X
4,000,000 4,000

2,800
360
840

HHA

Mo A

£ ISANE HEMS (S 2A=H) 42,000 0 42,000
21,000
21,000

MW

401 AIEHIZ 2 I 42,000 0 42,000
21,000
21,000

MW
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EA: HS2H2AEL
HE: M44E el
el a2 (el &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 42,000 0 42,000
o MEA ALH HE=E=2 2SAIE HEAE
42,000,000€ * 10 A 42,000
2 21,000
= 21,000
HHSHAALH (A2 22IAIE A) 76,014 78,643 A 2,629
olea 2AH| 26,408 29,179 N2,771
olaa2AY| 26,408 29,179 A2, 771
101 e1214| 26,408 29,179 A2, 771
01 2 26,408 29,179 N2,771
< =G> 0
o ANZ2Z2P$E
10,003& = 229 * 10Al2F = 128 26,408
JlE&dl 49,606 49,464 142
Jl2 &4l 49,606 49,464 142
201 gBt24d| 43,006 44 /384 N 1,378
01 AR 22| H| 37,038 37,038 0
< 2Bt ZH| > 0
o AIR4 89 A2 2¢ 25,000& * 40= 1,000
o HIEAD BE R 1,796
-CY 2 HMAADE 300,000& * 23| 600
- EY 598,000 * 23| 1,196
o HolMESH EY 250,000€ * 7CH = 23] 3,500
o MYIIsE F¢ 7002 + 3000 = 12€ 252
o EANEX P2 25,000 = g+ A x 128 1,800
o HAESE F2¢ 150& = 3,0000H 450
o MEIRSE 3,480
- 352X 18,000& » 55 » 12& 1,080
- XX 10,000& = 208 = 128 2,400
o ¢AgZg AP Y JEessE
90,000& * 2&X 23] 360
o IEHIIZAA =42 50,0008 = 23 * 204 200
<Y LG > 0
o GG 50,0008 * 484 24,200
02 32%H| 5,968 7,346 N1,378
< BZEZ2L2YLHAM > 0
o MotET AIEES 880& * 50E x 12& 528
o 2ER2 277
- guteH 330 « 404 x 128 159
- SJ|#H 1,960& * 54 » 12& 118
o BHAINLHEHEZ 40,000& = 23] 80
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